What is the slope of the line shown below?
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Which of the following is a graph with a slope of 1?
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The slope of the line through pomts {1, 1) and Which of these sets of ordered pairs would define a
{1,2) is: A line with a negative slope? &b
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The graph represents the wages a call center pays its entry-
level employees, where y is the total wages paid per hour
for x employees.

Part A: Calculate the unit rate from point J to point K, the

| unit rate from point K to point R, and the unit rate from
point R to point S. Show your work. What conclusion can be
made about points J,K, R, and S?
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Part B: "A grocery store is filling entry-level management

positions. The store pays $13.25 per hour for each
employee. Write an equation representing this situation.
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Total Wages Paid Per Hour {dollars)
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Call Center's Hourly Wages
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Part C: A job seeker inquires about the hourly wages paid at the call center and at the grocery store. She
decides to apply for the job that pays more per hour. For wh;ch job should the job seeker apply? Explain

YOur answer. !
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